

#### 368 CHURCH RD, TEQUESTA, FL, 33469

https://ritterproperties.com

One of the largest Tequesta homes in Jupiter in the Pines. This 3/3 split plan home has two large bedroom suites with full baths. The third bedroom is very spacious with a bathroom nearby. The living room can be used as a dining room that enters to the beautiful kitchen with a breakfast bar. Beautiful [...]

- 3 beds
- 3 baths
- Residential
- Single Family Residence
- Active
- 1955 sq ft





### Basics

Date added: Added 1 month agoCategory: Single Family ResidenceType: ResidentialStatus: ActiveBedrooms: 3 bedsBathrooms: 3 bathsHalf baths: 0 half bathsTotal rooms: 8Area: 1955 sq ftLot size, sq ft: 8398 sq ftSubdivisionName: JUPITER IN THE PINES SECListOfficeName: Illustrated PropertiesView: NoneListAOR: Miami Association of REALTORS®MLS ID: A11683639Status Single Family Residence

#### Rooms



| Room type      | Dimensions | Area | Length | Width |
|----------------|------------|------|--------|-------|
| UtilityRoom    | 12 x 10    | 120  | 12     | 10    |
| PrimaryBedroom | 14 x 12    | 168  | 14     | 12    |
| FamilyRoom     | 24 x 15    | 360  | 24     | 15    |
| SecondBedroom  | 16 x 11    | 176  | 16     | 11    |
| LivingRoom     | 17 x 14    | 238  | 17     | 14    |
| Kitchen        | 12 x 8     | 96   | 12     | 8     |
| ThirdBedroom   | 15 x 11    | 165  | 15     | 11    |
| Porch          | 17 x 9     | 153  | 17     | 9     |

# **Building Details**

| Cooling features: Ceiling Fan(s), Central Air, Zoned | Year built: 1968                    |  |
|--|-------------------------------------|--|
| ArchitecturalStyle: Detached, One Story              | NewConstructionYN: No               |  |
| Building Name: JUPITER IN THE PINES SEC              | Exterior material: CBS Construction |  |
| Roof: Shingle  | Heating: Central                    |  |
| Parking: Covered, Driveway                           |                                     |  |

## **Amenities & Features**



Features: 3 Bedroom Split, Cooking Island, Family Room, Security Features: Smoke First Floor Entry, Great Room, Pantry, Utility Room/Laundry, Vaulted Ceiling(s), Walk-In Closet(s)

**Amenities:** Dishwasher, Disposal, Dryer, Electric Water Heater, Microwave, Refrigerator, Self Cleaning Oven, Washer

Waterfront available: No

AttachedGarageYN: No

**PoolPrivateYN:** No

GarageYN: No CoolingYN: Yes FireplaceYN: No

Detector

**CommunityFeatures:** Paved Road